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(a) # Sk : f(=x) = —f(X)
(b) 1 3k : f(-x) = f(x)
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f(0)=0 iz- B -
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N .y _|2x+1 x<3 - )
Sl F o & s F(x)—{gxz >3 + F(F(9)
(HKMO 1988/89 4~ # i * )
£ FFE) = FRO+Y = F@ = 3x7% = 147~

2. TEESH f(X) 407 1% x ZF8E o f(X)=3x+1; % x 5 & #pF
f(x):g o d f(F(F@A23) -

g1 f(f(f(447)) = f(f(3x123+1)) = f(f(370))
_ f(@) - f(185)
- 3x185+1 = 556
(3r: i«%%?f«r’v’v "3ntl MR, v ER D FHon g} REs R
55 1)

L # f(F(F(x+D)=8x+15 > & f(x) -
£ ® f(¥)=ax+b >
f(f(f(x+1))=alaa(x+1)+b]+b} +b=a’x+(a*+a’b+ab+b) -
3
2 a’=8 . f2# a=2b=1-
a’+a’b+ab+b=15
e f(X) =2x+1
s E e Bl Xy 0 A H(X y)=x—% & H2H#(22) i
(AMC 10 2010)
1 3 2 4
g1 R = #(22-3) = #2D = 2-2 = Zo
& R 3 ( 2) ( 2) 3 3

F f(x-)+2f(1-x)=3x » £ f(100) &g -

1-x > R34 x> 3 f(-x)+2f(x)=3(1-X) -

olex Br RS x0 3 F(X)+H2F(-x) =30+ x) ©

f2 88> A2 {f(—x)+2f(x)—3(1—x) » B f(X)=1-3x °
f(x)+2f(-x) =3(1+Xx)

72 f(200) =1-3(100) = —299 -
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w
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KL R S HEH I TE oy To)= e 1E0)=20
F f(40) =i o (SAMO-S 2002)

f(30) = f(5x6) - ?
£(5) - 6f(30) =120
f(40) = f(5x9 - ? = 15

car f()=x"+ax’ +bx-64 % f(6)=4 & f(-6)hig
f (-6) (-6)° +a(-6)° +b(-6) - 64

= —(6)°-a(6)® -b(6) - 64

= —[(6)° +a(6)® +b(6) - 64] -128

= -4-128 = -132-

¢ f(x)=x®+ax* +bx*-64x 2 f(6) =4 > & f(-6)hiE o
f(-6) = (-6)° +a(-6)" +b(-6)" —64(-6)

= (6)° +a(6)’ +b(6) +64(6)

= (6)° +a(6)® +b(6) — 64(6) +128(6)

= 4+1286) = T72-

® P73 5w ade f(0=ad —dax+b (x21) F G HF Sk

y=17(x) @@lifch- B2 g £ ab hig -

® P73 2 (3,7 » f()=ax’-2ax+h »

a(7)’ -4a(7)+b=3 > * 2la+b=3;

a(d?-4a(d)+b=7* -3a+b=7 -
1, 13

2@ a=z-lp=2. e ap=-1x
6 2 6

= - o

12

13 _ 13
2

£ f(X)=4x-23 F Sdic o

£ y = 4x-23
y+23 = 4Xx

X = LZB
4

GeE mie f) =22

4
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X f(X) L35 2P RSl Q=

% f(a)=a-2:* F(ab=a+b®: £F(3 f(4) =i -
(P Wt »n7 B+ ﬁit%‘fﬁ% 1985) (HKMO 1989/90 Z?”%TI? A)

car y=ax®+bx’+ex-5° % Xx=-3 BFo y=7° ¥ x=3 pFoy o
B e (I3 adkm 1984) (¢ R% g i@ HwEFwE 1997)

l\)ll—‘

f(x+2)=f()+ (2 * £1(5) it
y=ab-a+b-1 * a=49b=21 & y- (HKMO 1987/88 s MI48)

PR RTER ST S Ry

(a) f(x)=+4x-23 (b) f(X)=+4x*+23

(¢) f(x)=]4x-23 (d) f(x)= ‘4x2 + 2#
(e) f(X)=log@x+23) () f(X)= |og\4x2 —24
_4x+23 _ 4x*-23
@ 0= 2 W 1= s
1 1
1 f e ) f = -
‘f\'r 5'1 \31&{‘?’1); \3\'1& .
(8)  f(x)=x+2 (b) f(x)=X"%
5x+6
1
(c) f(X)=+7x— (d) f(x)= oo

¥ f()=ax+b 2 f7*(X)=bx+a > & a+b =& - (AMC 12 2005)

o B y:"ixgll it g o

F g(=x"+a - g(g(2)=123 " & g(a) i+ E -

£ f(x-1)+10f (1-x) =11x » & f(99) thig
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l. F(3,f(4) = 3+[f(@)° = 3+(4-2* = 7

N
«
I

a(3)° +b(3)° +c(3) -5
= ~[a(-3° +b(-3)° +¢(-3] -5
= —[7+5]-5 = -7

3, f(—1):—f(1):—% @)= f(-142) = F(-1)+ F(2) > f'r’%:—%+f(2) %

7 f@=1-4 f(3):f(1+2)=f(1)+f(2)=%+1=g :

f(5)=f(3+2) = f(3+ f(2):§+1=g :

4,  y= (a+Ddb-1) = (49+D)(21-1) = 1000

5. (a) f(x) =+4x-23

¥ i 4x-2320- f'r’x2243

7“%’ B
GRS IR F
(b)  f(X)=v4x*+23
T ER xo AXP+2320 0 wRAE LT FH
GRS IR F
(c) f(x)=]4x-23
TEE ST P
R R X
(d) f(x):4x2+234
REB ] R e
i f(X)=223-
(e)  f(X) =log(4x+23)

o

B3 4x+23>0 ?’r’x>—%3 g

2 X
T_H/ B
TR
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5. () (1)

(2)

(h)

(1)

()

f(x) =Iog‘4x2 —2#

TEP LT W

B LA R

(o= Ax-2+d6 46
4x - 23 4x - 23 4x - 23

B i 4x-23£0> T x# 243

o

TR

2 X

B
B L et A o
2 _ 2 -
f()()_4x 23 4x"+23-46 _ 1 46

T 4x2+23 4x* +23 4x*+23
TERB L AXC+2320 5 d 204X +23=0 23 F4
KRB B 0] R e

g5 4x*+23223 s L 1< f(X)<-1-

1

f(x) =

o 4x - 23
TEE E 4x-23>0 > r"’X>243 °
B L F(X0>0
o p—

4x* +2x+3
4X* +2x+3 = 4(x2+1x+i)+3—1
2 16 4

4(x+1)2+1—1
4 4

LT E R x0 AXT+2x+320 0 R EE G T B

¥y 1+ |—=—"_= AT B S 0<f(X)S2\/ﬁ°
4 Juu 1 11
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(a) 4 y=x+2>#00 x=y-2> TF Sk g(X)=x-2°
3x-4
b é‘ = ’ ’—‘"‘i‘j‘l 5 +6 = 3X_4
(b) - Xy + 6y
3x-5xy = 6y+4
. _ 6y +4
3-5y
6x+4
AR S X) = °
# g(x) 3—5x
() 4 y=+7x=8 1 y? = 7x-8
2
X = y +8
5
2
2l oSnlic g(x) = X 7+8 °
1 1
d !"‘ = #r1Y 2 =
¥ Y= Jox+10 y 9x +10
9x+10 = iz
y
1,1
= — —_10
X 9(y2 )
_1-10y?
9y?
_ 2
A F S i g(x)::L 102)( °
9x
f(f(x) = X
b(ax+b) +a = X
abx+b?+a =
I ab=1"> a=1 °
b
z b?+a = 0
b2+1 = 0
b? =

“rr a=b=-1> at+tb=(-D+(-1)=-2 -
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10.

doy= s x+1)= 3x-1
y="+1 | y(x+3
X-xy = y+1
X = y+l
3-y
=2 v X+1 ~ ~ T 2 [PSES 1 : ¥
TR SHE y:3— HE &L X233 e &3 5 y£3 o
- X

gx)=x*+a > g(gd) = 9@+a) = gO+a)
= (9+a)*+a = 8l+l19a+a’
& 81+19a+a’ = 123
a®+19a-42 = 0

219 a=-21 & 2> Fa @ g@)=(-2)2-21=420 # g(2)=2>+2=6>
Skt 5 420 o

ol-x xR ARG x5 f(=X)+10f(X) =11(1-X) °

ol+x xR ARG x0 3 F(X)+10f(-X) =111+ X) ©
f(=x)+10f (x) =11(1- X

ﬁm,‘,ﬂ{() (0 =110-%) . 11x |

@ f(x)=1-
f(X) +10f (-X) =11(1+ X) 9

% £ (99) = 1—11—999 = -120 -

— P4 B 2R TR IAE B BB
T4 22 AET L09L G o

Fofl |\ £ 9 § 029K htto//aoodprivmes.eus.org/

Bz ¥
(Karl Marx 1£18-1883)




